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76- The show was very nice, so we were ............... . \ég_
1) excite 2) to excite 3) excited 4) exciting &
77- Ali was watering the garden at 6, the garden ............... at 6.
1) was watered 2) was been watered  3) was be watered 4) was being watered
78- The exam papers ............... tomorrow.
1) will correct 2) will be corrected 3) correct 4) corrected
79- French ............... in many countries all over the world.
1) is speaking 2) will be spoken 3) speaks 4) is spoken
80- These questions ............... easily.
1) may answer 2) may be answered 3) may answered 4) may be answer
81- Muslims do not eat on certain days, underlined word means ............... .
1) sure 2) special 3) different 4) boring
82- My son loves to take ............... old toys.
1) part 2) off 3) apart 4) none of them
83- It’s not my ............... to answer your physics questions.
1) idea 2) dislike 3) field 4) disable
84- He was injured in a terrible car accident. He has become ............... since then.
1) successful 2) disabled 3) surprised 4) physical
85- All the people should learn to ............... their duties in the society well.
1) perform 2) dislike 3) include 4) depend
86- The book you are looking for has not been ............... recently.
1) possible 2) responsible 3) programmable 4) available
87- We know you can’t be in one room, so we have thought of ............... rooms for you.
1) amusing 2) giant 3) honest 4) separate
88- Our teacher told us to ............... our hands when we wanted to answer.
1) pull 2) shout 3) push 4) raise
89- Her ............... brought happiness to her poor family.
1) success 2) loss 3) death 4) disease 0O
90- Our teacher is constantly encouraging us to study more. Constantly means ............... [ |
1) usually 2) never 3) always 4) often 8
;E



=

(itsloT (sltog ¥ ples) oogec 4 ojlods 90T -\ o jladb an y188

§+ -4 e Ju O@OO

el O Oliaw y> o 30 Jlao

mm Cloze Test

Have you ever had to stay in bed for a long time? | have, about six months ago, | felt very ...91...
and so | went to see a doctor. He ...92... me and asked if | had been working ...93... or had eaten
anything special and so on. ...94... he told me it wasn’t very serious, but | should not ...95... anybody
for a week. It was not so bad because my family members talked to me through the window.

91- 1) busy 2) glad 3) lazy 4) sick

92- 1) excused 2) explained 3) examined 4) expected
93-1) hard 2) quiet 3) rapid 4) soon

94- 1) Accidentally 2) Finally 3) Naturally 4) Recently
95- 1) leave 2) meet 3) scare 4) speak

mm Reading Comprehension

That the shameful practice of child labor should have played an important role in the Industrial
Revolution from its outset is not to be wondered at. The displaced working classes, from the 17"

century on, took it for granted that a family would not be able to support itself if the children were
not employed. The children of the poor were forced by economic conditions to work, as Dickens, with
his family in debtor’s prison, worked at age 12 in the Blacking factory. In 1840 perhaps only 20% of the
children of London had any schooling, a number which had risen by 1860. When perhaps half of the
children between 5 and 15 were in some sort of school, if only a day (of the sort in which Dickens Pip
finds himself in Great Expectations) or a Sunday school, the others were working.

96- The passage is mainly talking about ..............

1) child labor and schools. 2) child labor and its reasons.

3) Dickens and his childhood. 4) London and child schooling.
97- What did the displaced working classes assume as true? That ..............

1) children should take it for granted to work.

2) families are responsible to support their children.

3) a family needs employed children to be able to support itself.

4) from the 17" century on, children have been unemployed.
98- Which statement is TRUE?

1) Dikens used to work at 12 with his family.

2) There were more children who had schooling in 1860 than in 1840.

3) Many children had to work very hard from morning to night.

4) Children had to work although the economic conditions were good.
99- The pronoun "itself" in line 3 refers to ...............

1) class 2) grant 3) support 4) family
100- The word “outset” means ..............

1) result 2) setting 3) time 4) beginning
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